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Answer any FIVE questions.
All questions carry equal marks.
(5 x20=100)

1. (a) Explain any one method of collecting
primary data to check the living conditions

of the people in a village.
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(b) Represent the following data by a suitable
diagram :
Year 1980 198511990 | 1995 [ 2000
Export 40 | 53 | 68 | 104 | 113

(in Crores of Rs.)

(in Crores of Rs.)

Import
152 | 140 [ 131 | 100 | 98

2. (a)
(b)
3. (a)
(b)

Prepare a blank table to fill up the
data about the students in a college
classified according to faculty
(Mathematics, Statistics, Physics,
Chemistry), sex (Male, Female) and
community (FC, BC, MBC, SC).

Explain the different types of classification
of statistical data.

Mention the properties of a good average.

Compute arithmetic mean, geometric mean
and harmonic mean for the following
frequency distribution :

X |10-14(15-19(20-24]25-29(30-34|35-39(40-44

5 12 28 30 15 8 2
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10. &(m sevepmifluilev 2 siTer  mewTeuT&eflesT  &eps,
Qummermgny MHenevullemerds  &SevorL MW
Gaemeuwnet eflleurrissmer] GaasfiLgm@fu 6w

alleoTmll LLiIgWemevd  swmiflés.
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8. Letreu@pd efeurmisends@ evmevtiwm, wreesv

whmwb, Wefear allemevsds (&Mufl G 6tor&emar

seofis g Hpuyl

QF AT METTEUT  6T60TSH  &HITETOTE -

Cemgemnerser LTSS

] aflemev 2HeT 6
QU (6T
1995 | 2000 | 1995 | 2000
A 80 105 4 6
B 15 30 2 3
C 8 14 3 4
D 35 80 2
E 160 210 5 5

9. UeTeu(pd afleurnisensds@ Fnsmresst @mii| alldsib

Hmib, Memevwmest @mui efld@sd 2 Hueaihenms

:¥aqqal: Y-

. g erhes
ougl  (eu(BLiis6eMs) W&EHTOIHTEm S fg?;;;&ﬁ:;
5 - HEe &) 15,000 360
5 (psH6ev 30 euemI 20,000 400
30 - & Gev 10,000 280

4. (a) Define skewness and describe any one

method of measuring its co-efficient.

(b) Compute Karl Pearson’s co-efficient of

skewness for the distribution.

Class f
0-5 10
5-10 16
10 - 15 24
15-20 13
20 - 25 8
25-30 6
30 - 35 2
35-40 1

5. Define correlation between two variables and

compute the Karl Pearson’s co-efficient of

correlation for the data given below :

X

45

81

10-3

12-5

16-0

20-5

210

24-5

150

165

184

205

210

225

240

264
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6. Define interpolation and from the data given 6. @l losmsme arumn i), Leraimb

below, interpolate y for x = 10. afleurmefes g X = 10 srequd GUTEL, Y - 6T

wHLleDLISE Heolleas

4 8 |12 [ 16 | 20 | 24 | 28

Y [ 15 | 24|38 (51 |55 |65 |80 X | 4 8 |12 [ 16 | 20 | 24 | 28

15 [ 2438 | 51 |55 | 65|80

7. Calculate the seasonal variation for the

following time series of sales by moving 7. UesTeumip STeVHQSTLIT auflens i@, momb Frmef]
average method : (pemmUILILG  Li(HeusTey ommLUT(hEeners seofleas
Quarter :
Year N &TevesoT (b
Do | m | @ Pl oo | om |
1996 | 50 | 54 | 56 | 55 1996 | 50 | 54 | 56 | 55
1997 | 60 | 58 | 59 | 62 1997 | 60 | 58 | 59 | 62
1998 63 62 65 66 1998 63 62 65 66
1999 | 65 | 68 | 67 | 69 1999 | 65 | 68 | 67 | 69
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4.

5.

(&) CGamlLeTemeusmnw euenIwWenm O &g,
ssmaErer Gl&(pailenersd &eoflliLgmE
FGsmID &(H (Peomemw  alleurfl.

(=) UletTou(hd LTeUa&E &Mmev  LNwim e eoflesr
CarmlLs Oas(palener seofléas :

Class f
0-5 10
5-10 16
10 - 15 24
15-20 13
20 - 25 8
25-30 6
30 - 35 2
35-40 1

@m wrfsepesden Cuwrer &L Hmeailem st
auemrwenm O&Flgl, NeTeurpd ealleurmnhsens s
&mrev Llwiseflesr QU Bmes &(Lpallemet &esoflohs.

4-5181110-3(12:5]|16-0(20-5|21-0|24-5

Y [150 | 165|184 (205|210 [225] 240|264

8. Compute Laspeyre’s, Paasche’s, Fisher’s price

index numbers and check if it satisfies the

reversal tests.

Price Quantity
Commodity
1995 ( 2000 [ 1995 [ 2000

A 80 105 4 6
B 15 30 2 3
C 8 14 3 4
D 35 80 1 2
E 160 [ 210 5 5

9. Compute the crude death
standardised death rate for the following

rate and

information :
) ) No. of
A
ge group (in years) | Population deaths
Below 5 15,000 360
Between 5 and 30 20,000 400
Above 30 10,000 280
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10. Prepare a questionnaire to collect information
from the students of a college about their

social and economic status.
g,LlS]'[.,pné,&,Lb

FCsID wbg aflaTnéEsehsE almLweaflEseab.
emeT 5G| AlOTTESEREGHD &Fo  WHIGILIGTOTSET.

(5 x 20 = 100)

1. (3) 9w &rmwsHaster waseflear eurphens
ST5H605 5 & evoT L Ml (Lp & 6V B 65> 6V
yerefalleurseng] CorasfiugmE o @Henb

Q@ (peomemw  aflaurfl.

(=) Uletou(mpd  alleupmnhisensés @l ©Um (s &LWwiTeor

afleT&sLLLLD eI E

I 1980 [ 1985 | 1990 | 1995 | 2000

Toowd | 40 | 53 | 68 | 104 | 113
(Gammyg.  erpLimuilev)

OJUEICILE

Gena wmumaey | 152 | 140 | 131 [ 100 | 98

2.

(<)

(<)

S HvVTTIUNEI6TET LD 60T 6T & 65y 61T LI
uriSifley (sewofisbd, Lemeflullwey, @uimhflwey,
Geouduflwev),  Lmev  (2yevor, GletoT) OHMID,
grdu dAfey (FC, BC, MBC, SC)
2 Buweummlest g liemLuilev LigLumile| G&iig
allaurrisemneT BILILeUSNE 67 &HIUTE Q(H HT6U

2l LeusmesoT  SUMflésa|L.

HeTeflulwey efleugmsenarly L@EUUTU6

OQEwinBn  usvGeum (pemmaEemar  alleurfl.

S@H mevew SFrmarluleT L6t L& 6emerT s
G NRICE: S

L6TeU(HLD  HemEVGOl6U6TIT  LITEUSISEHS  Fal (B
e, @u@&;@ﬂ grnef wmmid, 2TGwmefls

grnefl ydwueihenms seoTsdbes

10 -

14115-19]20-24125-29(30-24135-39140-44

5

12 28 30 15 8 2
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